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PART -1 GENERAL KNOWLEDGE AND
TEACHING APTITUDE.
1. Chair person of Election commission of India. [ ]
1. V.S.Sampath 2. Gulam E.Vahanwati
3. Y.V. Reddy 4. R.Lakshmi Pathi
Bols ApBe Hosbo FG)S...
1. D.9%.00H8 2. P B, TEPINS
3. 3.0.38 4. «5.0§) 58
. Name of the Japan parliament... [ ]
1. National Assembly 2. Loya Girga
3. House of Lords 4. Diet
2PS PY0s Too¥) ...
1. 3556 ©0d) 2. 8°cse op
3. FR b ) 4. 35
. Which two countries developed supersonic
cruise missile “Bramho’s” [ ]
1. India - America 2. India - Russia
3. India - France 4. India - China
©THHIE 18 PIE (Erond §B wand @FRS
9 Both Baven Hoohoore @l eom.

1. P88 - wRdse 2. gr88 - Barg
3. 88 - (3PN 4. gP88 - B
4. Division line between N.Korea and
S.Korea.... [ 1]
1. Durand Line 2. 42° Parallel Line
3. 38° Parallel Line 4. Radcliff Line

688 B0, B8 SBAre o5 Dfesd O

1. &rgoeol B 2. 42%0 $EmosS T
3. 38% ¥&ross S 4. T°&8D B
5. l.P.L. stands for.... [ 1]

1. Indian Police League

2. Indian Premier League

3. Indian Police Law

4. Indian Press League

0.8.058. 5 DXBoLod.

1 908008 S OF 2. 8oBADS (BaHE OR

3. 508cHS ROT e 4. 308058 % OF
The ratio of Teacher and Student in a primary
school according to Right to Education
Act-2009. [ 1]
QT 57, 56302009 (H5°80 (PGS arBTees®
EaRTRg0%, EDCP?SQ DH8
1.1:30 2.1:35 3.1:40 4.1:50

6.

7.

|9.

10.

The most important task to be

accomplished by a teacher is. [ ]
1. To maintain discipline in the class

2. To make students prepare the assignments
3. To conduct examination and to give feedback
4. To develop the skill of learning how to learn
SAPTRIONE (BPdore FHOBHOVIG.

1. 88K8 K0S (B85 EIFR0HE

2. 3)@56363 O RRD0TED (ETPonoHe

3. oaééen DEErot) 208 (HBIQD woboled
4, @Céago‘éoéo QP B 985iR0HT 50
Complete silence in a class room is an
indication of. [ ]
1. Good teaching 2. Class room management
3. Fear of punishment 4. Lack of Interest
S8KBHOS Hr8 Dhasnd FreDoB.

1. Hod 855 2. SBKE ASresiedgo

3. 50&FPBI gohsw 4. L%cg BEBSE0
Special education is meant for educating

the [ ]
1. Normal children 2. Poor children

3. Rich children 4. Exceptional children
........ Do D SENOH RS AEBAS

éé%oém&o&.

1. Jgrden 2. i

3. &8 4. DoFeagddd
According to NCF-2005, the main goal of
mathematics education is to. [ ]

1. Develop children’s abilities to think logically

2. Prepare children to learn formulae and
mechanical procedures

3. develop a capability among students
relating to number operations

4. Prepare children for higher secondary
education

&% PE5|HedE L(e0-2005 (Hsedo KBS

08 wgego.

1. e T8 eSS T Bogrodosio

2. Dgo JrEres, diro@8 HFEO

IR0 ST Doh&o

BEen BS0erd 022080 @&@5@&

Qg 6:)&)65 oTodoNEo

030@263 38 BoKd DS Ffowvertnlovstete)




PART - 1l (A) GENERAL ENGLISH

11. Delhi is on ---- river Jamuna. [ ]
1. a 2. an 3. the 4. none

12. Jeevan died ..... heart attack. [ 1]
1. at 2.0n 3. from 4. of

13. Radha said to Madhuri “Where is your
boss?” [ ]

1. Radha asked Madhuri where is her boss
2. Radha asked Madhuri where her boss was
3. Radha asked Madhuri where was her boss
4. Radha asked Madhuri where her boss
14. Let us ring her wedding bells. [ ]
1. Let her wedding bells be rung
2. Let her ring her own wedding bells
3. We must ring her wedding bells
4. Let her wedding bells be rung by some one
15. He __ unwell since yesterday. [ ]
2. had been
3. was 4. would have been
16. If had taken a taxi he to the

examination centre in time. [ 1]

1. has been

1. will go 2. would have gone
3. would have been give 4. had gone

17. His behaviour pleased us. [ ]
(choose a word that is opposite to the
underlined word)
1. unpleased 2. non pleased
3. displeased 4. impleased

18. May | help you? (It is said to be.....) [ 1]
1. Seeking permission 2. Expressing possibility
3. Offering help

19. Venkat was met with an accident. He has

4. asking a question

become amnesiac . What does the underlined

word mean. [ ]

1. disable to use this limbs

2. loss of memory

3. loss of speech

4. loss of sensation in some of body muscles
20. A dogs legs at the back are called (.) [ 1]

1. hind legs 2. rear legs

3. back legs 4. behind legs

PART - 1l (B) GENERAL TELUGU

21. &5EPee0zE0S A OFETL00E00? ( )
1. 3 2. 4 3.5 4. 6

22. K%t $oED HRIP HEFAOT. « )
1. %o 2. HO 3. m&E 4. Ko

23. B3I DBY BHE0 @ PGP0 DEYRK?
1. o 2. &0 3. 8)&6?3 4. «%jéo

24. @3B0 BISw LHAFGH SBo VB? « )
1 3 (eng)sm) 2. & ((Eo85w)
3. 2 (gm) 4. &% (@oégo)

25. £058 “B580d arsi0sd|E éoé@éoéﬁ Q
VSN 00800 TeBE?. ( )
1. Srgdsehdn@o 2. JEIrSBao
3. @fgﬁoeﬁoﬁé 4, HE=H

26. DAL O™ ISB? ( )
1. JS0E0es 2. off) 3. STeatd 4. 30

27. [BPocirairod G Toamrde BHE B ey
FOOTE? «C )
1. Idword 2. 30A 3. oPo8 4. HoriE

28. [$@08 85508 [HaodEHen D56 Slale)eloe
BETN5? «C )
1. sy 2. ABS 3. &S 4. 883

29. “6rtH 8RBT HoBEHOE” 1b O 8o Kod
(Berote&od. ( )
L %58 2. 305 3. P 4. S°95P0adEs

30. ‘KR® @0& doBseeo. ()
1. 30 Qu 2. 24 Qn 3. 25dn 4. 27

31. doege AoHSred 30 B(PodH DoETB? ( )

1. JodzQo 2. 588 TR0
3. @088 =KMo 4. Db
32. ‘@orrdE’ @od & seBo. ()
1. endarsdo 2. doR¥arso
3. HB*Bo 4. Q80

33. SFewS 2550508 FodDd 88D PP ([Hogo.  ( )

1. SowsHisKen 2. Do’
3. Azroa:d® 4. DBsesHd
34. “@d UM, TP San” B0 Ko
®oosPE0. ( )
1. é‘ser&’sé 2.80585m 8. edSr 4. HbsE
35. ‘SSHtymotd’ @ dirdo. ( )
1 &yo 2 a0 3. OXgo0ers 4. BrHEIXPS0
36. &8 (8od QS Eéagé;aa"é’éé 2063 K)tﬁego. ( )
1. Sos8sre 2. Tdreo 3. HgFo 4. ddo
37. 93%H o5’ @ $of? ( )

1. ?’.g)o@ﬁsa%’ $0d 2. Hoarssnbod
3. K@o@ﬁs@% B0 4. HB08% $ob
38. r0erd HTRY) BITRE JoBI5TRE 39)0b
ADB? C )
1. 8%, SrdEen 2. E)iptH, $&5erd
3. 430y, STAREN V(Y 4. K83 =2
39. grRcHo @gzﬁoéo =0 5% DX00EPE? ( )

1. 888 a0 2. 8GBarE50
3. (BASRETes g0 4. @géeg E50
40. (808 AS° wHre EISR T IBH? « )

REAtY 2. 855 3. Do 4. ERIST e




47.In the given figure, the radius of the ci
|| AB-8cm, CD=6 cm. If OP makes
on AB and OC makes right
then PQ=__.

Dodnd® fE ayirgss 5C

AB & womormrsm, O CH

1. 7 cm 2. 6em 3.5cm  4.4cm
[,& 2 [3 —b
{8 A=l ,"],E=L 4 7 | A#B=O=A=_ [ ]

jJ o H T] o H t;I

Tanl45" - Tanl 25"
1+ Tanld5" Tanl 25"
2k - 1-

e e o

L Tan3st=K =

k.:'
4. wE

k.

" |55 If @ is an acute angle, then

cot (g-1170")= [
g nE weEmo, wond cot(@-1170%= _____
1. -Tang 2 Tang 3.Cotg 4.-cotg
56. Current generation computers are.... [
1. Babbage machines 2. Numen machines
3. Leibnitz machines 4. Pascal machines
Biigdo s Ko ol
1. o dbojpres 2. #rpiad diolgmem
3. Bomipl dbaojgren 4. el docigres
57. The slope intercept form of the lone .
ax+by+c=01s.... [
ax+by+c=0 56ty @) oren wodtipod drdo,

ax oL ax  c
===} fm—t— =]
1. » B E 2.-¥ TR
ax {gx T
el __==} .-_-_-.-_-—-=|:|
¥ b b X b b

et af ]

]

T —— —
PART - Il {A) MATHEMATICS M7 I
1. The contrapositive of q=p. e 123 !
s p e 49.A=[”ﬁ].a=_§J.c=[1 2] = order of
:1: F;:pr_:’_q"q if Ti; ,_pp ABC (ABC 8578} = ._a..... [
ﬂz-ﬂﬂ B=¢3, n{A)=8, n(B)=5=n{AlB)=—[ ] 1.2x3 2. 3x2 3.2.312 4 1x2
| 1.8 2 5 39 4 11 50. The average of 100 numbers is calculated
U3, a'hb'eei=l = atbro=___ g as 80. While calculating the average, two num
1.3. 3abe 2. Yabe bers are taken as 72 and 28 instead of 54 and
il ¥ 26. If this error is corrected, then the corrected
3. 27abc 4.3, iabe .
) mean is........ ;
= 100 Hosge SePHB 60, SHk 55 ol
4. ;I; el [ 1| 54 26 senstess eenm 72,
: 1 BEodndsD. 56 dhd dthard
1.1 ) 3. 2n 4. n 1. 59.6 2 B6O.7
5. 1f 2,6,18,54,....are in G.P. then 2, 6%, 18°54® |51. For a given da .
ooArein____ b ] then mean = [ ]
2.6,18,64....c0 G P& Sui, mond 22, 67, 187 547 Al o 8, doggfidsn b
| =0 A Hegh
1. AF 2 GP 3. HP 4. None aésh — 4
W6 If the median of a triangle divides it into two By - Mlane (Sheci)
triangles, then the ratio of their areas is....[ ] =00° Tan A=3/4 — cotB=____ [ 1
w8 [Bebuod Adbels SigNsdn e Btbednd Soth 2. -4/3 3. 3/4 4 -3/4
Debadoem DgRold, & (Bibe Seupne IGA BCos"81%= ___ [ ]
12-1 21-1 e P sinf29" 2 cosiB1® 3.1 4. None (Dbsed:

I

]

]

]
.J'




| 59, If 24 persons are required to build a wall in 4

| 61.The number of unpaired electrons present

58. The point on the lone 2x-3y=5 which is
equidistant from (1,2) and (3,4) is__ [
{1,2) &bt (3,4) Dorbshed Shirttind® Hotr
2x-3y=5 wit 35D e Dothd ...
1. (2,3) 2. (4,1) 3 (1,-1)

]

4. (4.6)

days working 8 hours per day. How many
persons can build the same wall in 8 days
working 6 hours per day? -
8 Mg Bl 9 Kobe Pops B8 24 fob 4 Bwdf
Foddoroth. od Mdh el 6 fobe Fhpl B Beed®
shite parTrecd Jodiold PL?
L & 2 19 3. 28 4. 18

60. Find the volume of the cylinder whose
diameter is 20 cm and height is 40 cm.
(In cu.cm.) 1
.8 fipdo SuE; oo 20 Te.dy. Bbok 28 40 Ro.do,
woxd oD Pndbires 2087 (e Ro.f.odh)
1. 127514 2 12571.4 3 125 4.MNone (2feeeh)

PART - lll {(B) PHYSICAL SCIENCE

in sulphur is. .. |
fegB (Hogtm) & robl dulpibe Jowg
1.1 2 4 3.3 4, 2

62 The ratio of intensity of magnetisation and
intensity of applied magnetic field is
1. permeability (Bl

3. retentivity

2.8 Seri wdbobite bigs, @
fijgde NapB

L Edg 8o

3. 60808

63. The reason
produce di

dtimcbind) el Dothsh dorh dotbe
AEHEenE s,
2 =ob gbstec

3. ol DoGse

| B4, Hardness of water is due to presence of [

1. Sulphates, chlorides of Magnesium and
calcium

2, Carbonates, Bicarbonates of Magnesium and
calcium

3. Oxides, Hydroxides of Magnesium and
calcium

4. ol Solprredt SrEiio

]

and -'i

4. Carbonates, Sulphates of Magnesium
calcium
A8 rio 83008 Piniond vlare
1. Bfghdhe, SHeSe Hihis, 85l
2. Dfhihe, PSSk webife, Berthif
3. Dofghicioc, PHdNo e i, TrrEiw
4 Dfphdbo, ek weidid, S8

65. The temparature at which semi conductors
converts into insulators. [ ]
2 s S5 sgoibecs, eyl DEf e Sntberan,
1. 0P 2.0k 3,273%c. 4.273k

66. A house is fitted with 5 lamp 0 watts,
& lamps of 100 watts. If e rns for 10
hours a day on average, the
consumption inam

5.1

[ ]

e sofE 60 100 o4y megpn
sl 10 Mot SETpa
SNGEERT, 3 camdeD e, 1 SFEipeh

3. 2700 4,270
internal rgy of a substance
ber of atoms in molecule
umber of molecules in a substance
. Ehemical structure and physical state
_All the above _
Borgs wostEdl AU wrrESA diotook. i
1. meofedtl didembe Soug
2 Berpodn wwmle Howg
3. S Doymdn wodks 88 8
1 psfy
68.The gas which is used as a fire
extinguisher.
DErpin wdy diolered aSErRod ralud.
1TH - & 3. N, 4 Cog,
60.If a force (F) acts on a body, and it displaces a
distance (3) in perpendicular direction then
work done (W) is equal to [ ]
el SR noo (F) BdrfolEpd, o S vororr
BEEN Srto (S) wod mBAs 30 (W) 2028 Hdmdo.

1. FX8 2% 3F+5 4.0

T0.Celluloze iz ankaxa mple of
1. Monosacchande 2. Aligo saccharide

[ ]

3. Polysaccharide 4. Fatty acid
Tt S04 e e - :

1. =i eEas 2, wlffesnl
3. ixbiedpE

4. 28 wio '




PART - lll (C) BIOLOGICAL SCIENCE
71. The wild life act introduced in the year of.[ ]
S (o Soges e @3%’3}%2665.
1. 1982 2.1972  3.1962 4.1952
72.The acid produce in the preparation of
Biogas is..... [ 1]
1. Propionic 2. Acitic 3. Butaric 4. Lactic
2@ 6HBS® doagorr D8R esyo.

1. [Ero&rE &0 2. RBseao
3. angeodseEno 4. o885 e5po
73. The viral disease of poultry. [ 1]
1. Ranvikhet 2. Salmoniosis
3. Korija 4. Cholera

8% $55) I 7%5B.
L 588 2 FSRIVS 3. e 4. Sooo
74. The location of NFC. [ ]
1. New Delhi 2. Hyderabad
3. Jadughad 4. Bombay
NFC (5058096 g0 sPoRE)) Ko (K&go
1. &S &@
3. apSriE
75. The excretory organ malfigian tubules
present in following animal. [ ]
1. Earth worm 2. Scorpion
3. Leech 4. Snail
éaves)q)e?oﬁaﬁ TS0 DIYE eHchares Ko £3.

2. rTeerd

4. &°oeron

1 oedarsm 2. Ben 3. moX 4. 58

76. The founders of Molecular Biology,
watsen, crick invented by. [ ]
1.DNA 2.RNA 3.Gene 4. Chromosome
oed &0 TRPI8 HIEen I0S TS, (B5en EXrD
QT2ER0.
L 8382 2856380, 3. akigd 4. B30

77. The proteins in fish meat, averagely. [ 1]

Se rodos® Ko JrodE)He Eo.

1.25-35% 2.15-25 % 3.20-25 % 4. 10-15 %
78. Hardwood cutting plant is. [ 1]

1. Hibiscus 2. Giranium

3. Tecoma 4. Clerodendron

KET% BT Ko ),
1 o8 2. #0JaHo 3. HBEHYG 4. DRJY

79. The incorrect sentense about Neutrofils. [ ]
1. Microscopic Policemen 2. Neucleous has 5-6
3. The large no of WBC 4. Neucleous round
Soo5¢5°S 980D KBS a@Eo 8.
1. JF) S5E geoen 2.80(%55°08 5-6 E3en0eron

80

81

82.

83.

84.

85.

86.

87.

3. wror dED Soggs® Ko W.B.C.

4. o0 Koo

. The decreasing of RBC life span due

to the dificiency of this vitamine. [ 1]

1. Ritinol 2. Riboflowine

3. Tokoferal 4. Fillow Quinone

BBELere EDS oo HONS SADITS K DS

EﬁJ"éQﬁé 58800 )0,

L 386 2. BS*PIS 3. oS 4. HEEIES
PART - lll (D) SOCIAL STUDIES

. The planets that does not have any

satellites are..... [ ]

1. Mercury and Earth 2. Earth and Mars

3. Mars and Jupiter 4. Venus and Mercury

& (55P0%H eHsHe BY).

1. 20808, 855e80 2. 88, Bartd

3. Brer, 1HBEH 4. HEBD, a0gotd

Hight of the highest point Mount Vinson

Massif in Antarctica is.... [ ]

1.5041m 2.5410m 3.5140m 4.5014 m

©0¢rE)B5PE’ DB [FPoBo ISKT Srdd &,

The Sir Arthur Cotton Barrage is at. [ ]

1. Vijayawada 2. Hospet

3. Dowleswaram 4. Rajahmundry

56 @25 0R BS8E Bty Sodh.

1. Deschraed 2. 3RS

3. éézéé%ogéo 4. orassoo(&

Mount Krakatoa is in... [ 1]

1. Indonesia 2. Malaysia

3. Japan 4. China

Er8Etar HdBo Bty .

1. 2085300 2. HShose

3. B3PS 4. 3>

The deepest fresh water lake in the

world is..... [ ]

1. Pulicot 2. Baikal

3. Kolleru 4. Superiar

©H0B08® B 50DIB 18,

1. HOES 2. B35S

3. 8% 4. 2508055

The price paid for the use of land as a factor

of production is wally is called. [ ]

1. Rent 2. Wage 3. Interest 4. Profit

PR 0D BP0 EBHeo.

L ertofo 2. 380 3. $& 4. gl

Which is wrong of the following. [ ]

Bod &S 50508,




88.

89.

90.

91.

92.

93.

94.

1. NREP - National Rural Educational Programme
2. RLEGP - Rural Labour Employment
Generation Programme
3. SGSY - Swarna Jayanthi Grama
Samridhi Yojana
4. JGSY - Jawahar Grama Samridhi Yojana

The state that ranks first in industrial
development. [ 1]
1. Maharastra 2. West Bengal

3. Gujarat 4. Rajastan

FOTRPHRS® BP0 S &) oo

1. oo 2. H3yd Borrd

3. He:oes 4. m&@;ﬁ

The literacy rate in India as per 2011
census was. [ 1]

2011 (Bs80 gr88RE wgoesd do.

1.7440 2.74.04 3.58.64 4.82.14

The gift of Nature is. [ 1]
1. Capital 2. Land 3. Organisation 4. Labour
(%8 BFH0DS SBo

1. Sresdo 2. & 3. Eéegzéﬁsééo 4. (85
Maratha Kingdom was founded by Sivaji
during the region of [ 1]
1. Akbar 2. Aurangazeb 3. Shajahan 4. Babar
O IKS BEHY wos® Bard TG

TRegg D 3;%30&@&3?

L o5 2 DSorkBEew 3. pasHS 4. b
Who said Do or Die in the period of Quit

India Moment. [ ]
1. Gandhiji 2. Nehru

3. Thilak 4. Subhash Chandra Bosh
8¢5 BB aie. estigsd oo FBoDH Soo
So8edoh @ (Do or die) ASDoDSae.

1. eobd 2. Bsoe

3. 88 4. J2ogrf S0l
Non-alignment got international status in[ ]
1. 1955-Bandung conference

2. 1956-Broyoni conference

3. 1961-Belgrade conference

4. 1964-Cairo conference

& $5rBEoS® ©dS Jordo @oécgédﬁ)

80 we@)ob.

1. 1955-erothoh 2. 1956-(@rd

3. 1961-8SR& 4. 1964-38°

Midas, Phydas and sen are famous

sculptors of [ 1]

1. China civilization 2. Greek Civilization
3. Roman civilization 4. Persian civilization
TR PR, IS0 & THOEED BodD (R

Egesedoen

1. B KOLS 2. (A% =°ri68s

3. 8%08 =rB8Y 4. HBAHS ToKBES
95. 95% of population in french belongsto [ ]

1. first estate 2. second estate

3. third estate 4. forth estate

B0 95% avrer & IR BoBITD
1 SosB RS 2. Bord IS

3. s PS4 oD IS

96. No. of Emergencies are in our country. [ ]
1.4 2.3 3.2 4. 1
S0 BEos® DY @e‘éeg:ééé Kaag(géé)o Qogy
1. 4 2.3 3. 2 4. 1

97. Who revied the local self government
institutions. [ ]

1. Lord Dalhousie 2. Lord Rippon
3. Lord Courjon 4. Lord Bentink
%@é Soged HIBEBDZITE

1 &8 &I 2. o6 8BS
3. &8 553 4. o°§ BoBok
98. The first world war ended with [ ]

1. versailles treaty 2. Marshal treaty
3. Tarki treaty 4. Japan treaty
& 068 B (HHoS oﬁaocgo ENVolatSlela)

1. &Bood o 2. éﬁ@é pStota)
3. &8) ob 4. 238 Hod

99. Which two states in India have 42 seats
each in Indian Loksabha? [ 1]

1. Tamilnadu, Andhra Pradesh

2. Andhra Pradesh, Bihar

3. Tamilnadu, West Bengal

4. Andhra Pradesh, West Bengal
rESBE0S® SEXES® & Bothd oolge8
2,88 e8 42 ﬁng &T2)00.

1. SDFT, WoBHES

2. SoBHBE, D6

3. SFed, H)oBorrd

4. WOFHAE, HYoBorrs

100. UNO day. [ ]
1. Oct 24 2. Nov 24
3. Sep 24 4. Dec 24
(oL ISEIN &(’Sse‘é‘gzéo D B wHHBoerSn
1. 088 24 2. $Howb 24

3. ?o?a))oaag 24 4. &Sox8 24




Sri Krishnaveni Coaching Centre DIET CET - GRAND TEST - 6 Key Sheet
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